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=T EXERCISE - 2.4
.

Find the reciprocal of each of the following fraction.

2 3 B
@ 3 @ 3 (i) =
1 2 7
(iv) 9 v 3 i) 3
Solve the following (Division of a fraction by a non zero whole number)
(i) % + 10 (ii) g +5 (#ii) g +8
(iv) B +4 () hf;l +5 (vi) 4l +3
2 2 3
Solve the following (Division of a whole number by a fraction)
7 7 8
(i) 8+ ; (i) 5+ g (iii) 4+ ;
3 4
(hv) 3+2 E ) 5+3:‘;
Solve the following (Division of a fraction by another fraction)
) 2 10 4 2 1
(i) 3 + 9 (i) 9 = 3 (iii) 25 + =
) 3 1 1 1 . 1
(iv) 7 -:»]g (v) 55 +2§ (vi) 3;.;1;

|
11 small ropes are cut from 7 3m long rope. Find the length of each of the small rope.
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Multiple choice questions :

(i) Reciprocal of — is

4
3 4
(a) Z (b) 3 (c) 1 (d) none of these
-
(H) 7 - 5 =
49 25
l mp— v — —
(a) (b) 25 (¢) 29 (d) 1
5 5
(iit) 7+ 7=
49 25
| — = =
(a) (b) 25 (c) 49 (d) I

(i)  The reciprocal of a proper fraction is an improper fraction (True/ False)
(ii) The reciprocal of a whole number is always a whole number (True/ False)
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